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How shall he do it. - TS TR

OVERVIEW

The X723 teaches us that according to »n" if the 75w did not say 1"92 and the
woman remarried, she must leave her second husband, and the child born
from that husband is a 9tmn. However the o201 disagree and say that the
child 1s not a 71771. The Xn>12 continues: ‘what should he do ...., he should
redeliver the vx to her and say 1"92’. The question is; what does this
‘remedy’ of redelivering the vx accomplish?

One may interpret that this ‘remedy’ of redelivering the vx will prevent the
child from becoming a 7mn according to the o°»3m. If however he does not
redeliver the v3, the child will be a 7mn. (According to n"9, however, this
remedy will not prevent the child from being a 1n.)

Alternately we may say that this remedy is only for »n"3. If the mbw
redelivers the vx the child will not be a amn. (According to the o
however, no remedy is needed. The child is never a mn.)

mMooIn does not accept either of these interpretations.
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The explanation of 'Twy> 7¥°2' is: what should we do according to the j129,
in order that this woman may remarry initially or if she already
remarried despite the fact that she was prohibited to remarry, nevertheless

she should not be required to leave her new husband. It is the wife’s situation only

that we are seeking to remedy by having the m% redeliver the v while saying 1"52 —
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However, concerning the child that was born from this (illegal) marriage
there is no need for any rectification, for without instituting any further
procedures, such as the 7% stating 1"52 while redelivering the v3, the child

will not be a 91%% even though the M9 did not say 1"92.
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For they do not subscribe to the stipulation that “whoever alters etc. the
form that the 2°nm instituted by v then (the woman must leave her husband and) the
child is a 7mn”.
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And according to »'"9 the remedy of 'mww> 7¥°2' applies only before she

remarries. Redelivering the ©3 then and saying 1"92 will permit her to remarry initially
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without reservations.
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However, after she remarried illegally, without the m>w saying 1"93, it

seems logical that according to »''" there is no remedy for this woman or her
child. She will have to leave her new husband, and the child will be deemed a Lmn.
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for since the child is a 9t%% as n"9 clearly states: Wwavw yavnn mwnn 9o’
"ran T ROXY Puoaa oonon; that indicates to us that n"9 considers her as a
woman who was 7 while married” therefore all these rules® apply to her

including that she must leave both the current and past husbands -
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And all the other consequences that the ;11w» teaches us in =357 P10 apply
to her.

SUMMARY

If a m>w delivers a vx and does not say 1"92 and she did not remarry yet;
according to the °»o1 and n": if the 5w will redeliver the v and say 1"92
before she remarries, then she may remarry 177°nn3%. If however the m>w did
not redeliver the v3 and she remarried, then according to n"9 there is no point
in redelivering the v3. She will be considered as an w°X NWX who was 7111
and the 17 will be 7219877 0°37777 221 71 7207 1Y A2 X3, According to the
o121 however if he redelivers the vi then she may remain remarried. If not
she must leave her present husband. In either case however, according to the
o on, the child will not be a 2n.

THINKING IT OVER

When the 5w redelivers the 03, is she nw 3 retroactively from the original
73°n1 or from the present 71°n1? If it is effective retroactively, why according
to n"1 do we not redeliver the vx even after the X°1? If the v is effective
only from the present onwards, why do the on37 say that Xgn 85?2

" Even if the 13 was redelivered before she conceived. See *Xn and 7"10.
? The offspring of such a union is a .
? Which are applicable to married woman who are 7.
* The mwn there enumerates all the consequences if a woman remarries without being divorced (properly).
This woman in our case will suffer the same consequences according to n"-.
* See A N 2.
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